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Calculation Policy 
 



Addition 
 



25 + 13 = 

20 + 10 = 30 

5 + 3 = 8 

30 + 8 = 38         

 





2671 

356 769 ? 



? 

5,399 14,375 82,016 

   



Subtraction 



48 

178 

? 



  3 5 6 9  

3 5 1 9  



498 

678 

2 1 3 5 1 9   



5,399 14,375 

82,016 

7 2 0 8 5 1 5   
 

 



Multiplication 





The children should record their 

exchanges above the calculation to 

prevent confusion when moving on to 

long multiplication. 





Children must remember to 

include the place holder 

shown here in red (a 

common error). 



Division 





 

 

 



It is important to explore 

what it means if the 

remainder is larger than 

the divisor. This will help 

them in long division in 

Year 6. 



Help Box 

1 x 25 = 25 

2 x 25 = 50 

5 x 25 = 125 

10 x 25 = 250 

÷ ÷ 
x 


